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2005 Physics JIT Revision Worksheet # 7

Name : _________ Reg. No. : _____ Class : ________ Date : _______

Practice Questions 


1. A metal wire , 20.0 cm , with cross sectional area 5.00 mm2, has resistance 100 (. The material of this wire is used to made other wires. Determine their resistances









	Wire
	Material
	Length / cm
	X-area / mm2
	Resistance / (

	A
	W
	20.0
	5.00
	100

	B
	W
	20.0
	10.0
	

	C
	W
	40.0
	5.00
	

	D
	W
	60.0
	20.0
	

	E
	W
	
	5.00
	200

	F
	W
	20.0
	
	200


2. a) Determine the resistance of resistors that has Voltage-Current variation shown . [2]




R1 = __________

R2 = __________


b) Determine the resistance of resistors that has Voltage-Current variation shown . [2]




R3 = __________

R4 = __________




3. PQ is made of uniform high resistance wire (nichrome). Contact S can slide along PQ. PQ acts as a variable resistor. Resistance of PQ is 20 ohms. Length of PQ is 10.0 cm. 












a) Calculate the Reading on Voltmeter V1 and Ammeter A1 when PS is 0.00 cm. [2]




b) Calculate the Reading on Voltmeter V1 and Ammeter A1 when PS is 3.00 cm. [2]





4. Explain why thicker wire is used for carrying high current, and thinner wire is used for carrying lower current. [2]





5. A light bulb is short-circuited as shown. 


a) Sate what happens the brightness of lamp after short-circuit. [1]


b) The lamp has 150 ( resistance. Emf of dry cell is 12.0 V. Determine the change in current due to short circuit. [2]




c) Hence, explain why short circuit is dangerous. [1]



d) Draw the current flow after the short circuit. [1]
Solutions : 
1. 
	Wire
	Material
	Length / cm
	X-area / mm2
	Resistance / (

	A
	W
	20.0
	5.00
	100

	B
	W
	20.0
	10.0
	50

	C
	W
	40.0
	5.00
	200

	D
	W
	60.0
	20.0
	75

	E
	W
	40.0
	5.00
	200

	F
	W
	20.0
	2.50
	200


2. a)R1 = 50 V / 2 A = 25.0 (
 R2 = 30 V / 4 A = 7.5 (
b) R3 = 2 V / 50 A = 0.04 (
R4 = 4 V / 30 A = 0.133 (

3. a) current = 12 V / 3 ( = 4.00 A
A1 = 4.00 A ; V1 = 4.00 A x 3 ( = 12.0 V
b) current = 12 V / (3 ( + [3/10][20 (] ) = 12 V / 9  (= 1.33 A
A1 = 1.33 A ; V1 = 1.33 A x 3 ( = 4.00 V

4. High current generates a lot of heat in the wires, which may cause fire or heating  damage. . Heat generated in wires = I2Rt  , where I is the current in wire, R is resistance of wire, and t is duration wire flows. To reduce the heating effects of high current, the resistance of wire R must be lowered. Thick wire, having larger cross sectional area, has lower resistance. This reduces the heating effects of the high current. 

5. a) Lamp goes OFF (no light) after short circuit. 
b) current before SC = 12 V / (100 ( + 150 () = 0.048 A.
current after SC = 12 V / 100 ( = 0.12 A
current change = + 0.072 A 
c) During short circuit, a high current flows in the circuit. This may cause heating damage to devices or fire.  
d)










6. Answers provided by carrotisgood@hotmail.com  please visit www.geocities.com/lemonisnice for Physics notes   . ( good luck . om . . . . .
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